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QUESTION 1

Which of the following statements regarding the default scheduler in the Nokia 7750 SR are TRUE? (Choose two)
A. There are a maximum of 8 levels of priority serviced using a round-robin algorithm.

B. The default scheduler will spend an equal amount of time in each queue, as long as there is traffic present

C. The H1 internal forwarding class will receive its CIR before AF traffic.

D. Orphaned queues will be scheduled out of the BE queue.

E. A queue servicing EF and AF traffic will require explicit configuration to set the queue to expedited.

Correct Answer: CE

QUESTION 2

Which of the following is NOT an advantage of deploying queue-groups on a network port?

A. It enables fine-tuned SLA control that is not possible when using a common set of queues for all L2/L3 services.
B. It enables CFHP and hierarchy scheduling (egress) for each network interface.

C. It improves scalability by allowing the use of queues instead of the default set of policers used on network egress.

D. It allows for enforcing bandwidth reservations of the LSPs that are used by the SDPs configured on the network
interfaces.

Correct Answer: B

QUESTION 3

Where is a QoS network queue policy applied?
A. Ingress SAP or egress SAP

B. Egress port or ingress MDA

C. Egress MDA or ingress network interface

D. Egress network interface or ingress MDA

Correct Answer: B

QUESTION 4

Click the exhibit button below. Given the scheduler-policy (below), which of the following can be done to guarantee that
the best-effort traffic receives its configured CIR value?
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CoS: EF
PIR: S5Mbhps
CIR: SMbps ‘\,I
Lewal: &
Weight: 100
CIR=Lavel: &
CIR-Weight: 50

coS: AF
BPIR: |OMbp= PIR: LlDMbgps
CIR: 5S5Mbp= _p GCIR: 1D0MbpE|

Level: 3 /____.—-——""_
Weight: 100

CIF=Lawel: 4
CIR-Weight: 4

Co3: BE
PIE: lLOMbp=
CIR: 2Mbps
Leveaelr 4

Weight: 100
CIR-Level: 4
CIR-Weight: 1 Tier!

A. Change the CIR-level value for the best-effort queue to 8.

B. Do not change anything; it is already guaranteed to receive its CIR
C. Change the CIR-level value for the best-effort queue to 1.

D. Change the CIR-weight value of the AF queue to 0.

Correct Answer: AD

QUESTION 5

With hierarchical scheduling, up to tiers are supported on the Nokia 7750 SR.
A.8

B.3

C.4

D.5

E.6

Correct Answer: B
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